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Consider the following statements :
Assertion (A) :
The eastern coast of India is affected

by tropical cyclones more than the
western coast of India.

Reason (R) :

Tropical cyclones originate only in
the Bay of Bengal.

Select the correct answer from the options
given below :

(1) Both A and R are true and R is the
correct explanation of A

(2) Both A and R are true but R is not
the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

The drain of wealth theory stated that
Britain was completely draining the
wealth of India. The
mentioned in the book titled “Poverty and
Un-British Rule in India”. The book was

theory was

written by which of the following
writers ?
(1) M.N. Roy

(2) Firoz Shah Mehta
(3) Dadabhai Naoroji

(4) Mahatma Gandhi

(3-A)

Match the Rivers (List I) with the Dams
(List II) :

List I List 11
(River) (Dam)
A. Cauvery I. Alamatti
B. Krishna II. Mettur
C. Narmada III. Gandhi Sagar
D. Chambal IV. Sardar Sarovar

Select the code for the correct answer

from the options given below :

A B C D
1 I v IT II1
(2) 1II I vV III
3 1II I III v
4) I III vV II

Inadequacy in generating resources to
sustain the process of economic growth
necessitated the New Economic Policy of
1991. The main components of the new
policy were

A. Liberalisation
B. Privatisation
C. Globalisation

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) A ,BandC

(2) A and B only

(3) Conly

(4) A and C only
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Which of the following factors has/have
caused waterlogging in the black lava soil

of Deccan ?
A. Introduction of irrigation
B. Sugarcane cultivation

C. High rainfall

Select the code for the correct answer

from the options given below :
(1) A, BandC

(2) A and Bonly

(3) Aonly

(4) A and C only

The areas of Kansas, Oklahoma, Texas
and Southern California are well-known

for which of the following activities ?
(1) Iron mining

(2) Coal mining

(3) Oil fields

(4) Automobile industry

G-A)

With
systems,
statements :

reference to Indian transport
consider the following

A. Indian railway system is the largest
in the world.

B. Among the States, Kerala has the
highest density of surface roads.

C. National Highways No. 7 is the

longest in the country.

Which
correct ?

of the above statements are

Select the code for the correct answer
from the options given below :

(1) AandBonly
(2) A and C only
(3) B and C only

(4) A, BandC

The French  Open, also  called
Roland-Garros, is a major tennis
tournament held at the Stade
Roland-Garros in Paris, France. The

winners of the Mixed Doubles category at
the French Open 2017 were

(1) Aisam-ul-Haq Qureshi and Sania
Mirza

(2) Anna-Lena and Robert Farah

(3) Rohan
Dabrowski

Bopanna and Gabriela

(4) Leander Paes and Martina Hingis
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Which of the following ministers have
launched the live Twitter Wall for
promoting ‘Bharat Ke Veer’ portal on the
eve of the 715t Independence Day ?

(1) Ram Shankar Prasad

(2) Ananth Kumar

(3) Rajnath Singh

(4) Arun Jaitley

The oil patches on roads that occur due to
leakage from vehicles appear to display
many colours. This is due to the
phenomenon of

(1)
(2)
(3)
(4)

Interference
Reflection
Refraction

Polarization

According to the UNDP Report 2011,
which one of the following nations ranks
first with 100% literacy ?

(1)
(2)
(3)
(4)

Latvia
Ukraine
Georgia
Vatican City

The spherical nature of water and oil
drops suggests that the sphere has the
property shown as one option.

Identify the correct option.

(1) Smallest surface area for a given
volume

(2) Largest surface area for a given
volume

(3) Surface area is independent of
volume

(4) None of the above

(7-A)

13.

14.

15.

Suppose tea at 90°C is kept in an open
cup and it takes 20 seconds to cool down
to 80°C. The time taken for cooling from
80°C to 70°C is

less than 20 seconds

(D
(2)

equal to 20 seconds

3)

equal to 10 seconds

more than 20 seconds

(4)

Devendra Jhajharia, India’s most
decorated Paraolympic athlete became
India’s second gold medal winner at the
For which of the

following events has he won the medal ?

Rio Paralympics.

Javelin Throw

(D)

(2) Judo

(3)

Boxing

(4)  Archery

22nd Agian Athletics Championship, 2017
was held in India in July 2017 at which of

the following places ?

(1) Wuhan

(2) Delhi
Pune

3)

Bhubaneshwar

(4)
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National Commission of Scheduled Castes
and Scheduled Tribes have been replaced
by National Commission of Scheduled
Castes and National Commission of
Scheduled Tribes by which of the
following amendment ?

(1) 37*h Amendment
(2) 88%h Amendment
(3) 89" Amendment
(4)  92"4 Amendment

Which writ is called the bulwark of
personal freedom ?

(1)
(2)
3)
(4)

Mandamus
Habeas Corpus
Quo-Warranto

Prohibition

Match the Mahajanapadas (List I) with
their Capitals (List II) :

List I List IT
(Mahajanapada) (Capital)
A. Magadha I. Kausambi
B. Vatsa II. Rajagriha
C. Surasena ITI. Rajpura
D. Kamboja IV. Mathura

Select the code for the correct answer
from the options given below :

A B C D
(1 II I v ITI
(2 II ITI v I
(3) III II v I
(4) III II I IAY

(9-A)

19.

20.

21.

The Sapru Report of 1945 is related to
(1)
(2)
3)

Centre-State Relations
Educational Right of the Minorities

Political and Civil Rights of the
Minorities

None of the above

(4)

Consider the following words :

A. Socialist

B. Democratic

C. Sovereign

D. Secular

Choose the response that gives the correct

order in which these words occur in the
Preamble of the Constitution of India.

(1) C,A,D,B
2 C,D,A,B
3 C,D,B,A
4 D,AC,B

Freedom of speech and expression is
restricted in the Constitution on grounds
of

A. Defamation
B. Contempt of Court
C. Protecting a Scheduled Tribe

D. Friendly relations with foreign states

Which
correct ?

of the above statements are

Select the code for the correct answer
from the options given below :

(1) A, BandC only
(2) B, CandD only
(3) A andD only

(4) A,BandD only
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Which of the following groups take/s part
in the election of the President of India ?

A. All elected Members of Parliament

B. Members
Assemblies

of State Legislative

C. Elected Members of State Legislative
Councils

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A and C only
A and B only
A only

C only

Which of the following committees are
drawn only from the Lok Sabha ?

A. Committee on Public Accounts

B. Committee on Estimates

C. Committee on Public Undertakings
D. Committee on Absence of Members

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A and B only
A, B and C only
B and D only

A, B,CandD

(11-A)

24.

25.

26.

India’s first museum on the “Partition of
the Indian State” opened in which of the
following States ?

(1) Uttar Pradesh
(2)
3)
(4)

Punjab
Assam

West Bengal

The provisions regarding the Bodoland
Territorial Council are incorporated in

(1) the Sixth Schedule to the
Constitution

(2) the First Schedule to the
Constitution

(3) the Fifth Schedule to the
Constitution

(4) no part of the Constitution

Match the Books (List I) with their

Authors (List II) :

List I
(Book)
A. War and Peace I

List I1
(Author)
Leo Tolstoy

B. Animal Farm II. George Orwell

C. No Full Stops III. Ben Okri
In India

D. The Famished IV. Mark Tully
Road

Select the code for the correct answer
from the options given below :

A B C D
1 I II v III
2 I II ITI v
3 II I IAY III
4) 1I I III v
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Match the Railway Zones (List I) with
their Zonal Headquarters (List II) :

List I List IT
(Railway Zone) (Zonal
Headquarter)
A. Eastern Railway 1. Hajipur
B. East Central II. Kolkata
Railway
C. East Coast III. Jaipur
Railway
D. North Western IV. Bhubaneshwar
Railway
E. North Railway V. Allahabad
F. North Central VI. New Delhi
Railway
VII. Lucknow

Select the code for the correct answer

from the options given below :

A B C D E F

1 I I I Iv v VII
2 I I Iv. 1III Vi V
3 Iv 1II 1 VI I v
4 IV 1 \Y% II Imr VIl

(13-A)

28.

29.

Right to Information implies

(1) Freedom of the people to have

access to government information.

(2) That the citizens and

non-governmental organizations
should have free access to all files
and documents pertaining to the
government operations, decisions

and performance.

3)

Openness and transparency in the

functioning of the government.

(4) All of the above

Whose function is it to see that no money
is spent out of the Consolidated Fund of a
State without the authority of the

Legislature ?

Public Accounts Committee

(D

(2)

Comptroller and Auditor General of

India
Finance Commission

3

None of the above

(4)



30.

31.

265

2.T0300° WOIZIT  BRTOID  BRTOIW
%dce 290007 m’m@h’g&iﬁ% QN3 8
@@ﬂdﬁd@%mﬁm@é ?

(D

@ 3

TORTOL WTBODT®
dwmzs@ BT 1

(3) %;geoaa" 2.30300° 11

(4)  wO33EOTL0T, wWwBOIIT

P08 OGN YRTSTE) HPRIFITHCE

T, BT, AIWITITT. AT W ReS0T33

A TORF  TOFT  ORODNYY, ey,
TONTIBS.

B. cm%@ PR SHOTT R0 JeIoTd
DRODNASE),  cI)Te msm@s&
BREBRR,

C. oRTBAQAYOT  JEI0T WP
0T FRITIOD  BEOIHOBT
JBesT ROANYY, GodFT WRBIRYRY
QeTUTOTV.

D. &ITO SRFTIe FROFERD B0
PUTTILHTTOT, 52IOTWTBITI) 303
T, TOTRITBLTBITI.

33 B0eOT TePINT_ 033y 7O ?

QeRTOT  BoNYY, FOCINT  YVZTHN

RoBeBTT0K :

A, B 353 C ®»8,

A T2y D I8,

A, B 3033 D &73,

A T2y D B3,

(D
(2)
(3)
4)

32.

33.

34.

VOTDRE  TIYEOD  PUTRTHTD
JSCIPNT

PN
SoaF 0T
ROEFRYT

WO

29,

(D
(2)
(3)
4)

CIRFTe BHBT NTRETT H0eS TR
VTR Lo3NTY AIRR)) ?

A. TNT BFRBN 203 WRHT

B. 230

C. ©g03

D. m&m&é RRSINE

QeRTOT  BORYY, FOCIRT  LVBTEN
ROBeSBTOR -

A 333 B 3093,

B 2033 C I8,

A, B 353 D &358,

A, B,Cx03)D

(D
(2)
(3
4)

‘2o, dderds I nvRy TS =X
Be3ey, PROD HoedT INF SNWETS ”
Q0T BEPTIRTIT ?

1 o570 F9
(2)
(3)
(4)

mm%mozbez%
DR A WY,

RIBO RS IBR,

(14-A)



30.

31.

265

The last king of the Wodeyar dynasty who
was defeated by Hyder Ali was whom of
the following ?

(1) Rajaraja Wodeyar
(2) Krishnaraja Wodeyar I
(3) Krishnaraja Wodeyar II

(4)

Jayachamarajendra Wodeyar

The Constitution of India has established

a Secular State in India. This means

A. The State is neutral in religious
matters.

B. The State makes no discrimination in
matters of appointment on the basis
of religion, etc.

C. The State
instructions
institutions maintained out of State
funds or receiving aid out of State
funds.

can impart

in

religious
educational

D. People can profess, practise and

propagate any religion.
Which
correct ?

of the above statements are

Select the code for the correct answer
from the options given below :

(1) A, BandC only
(2) AandD only
(3) A, BandD only
(4)  AandD only

(15-A)

32.

33.

34.

Indravati National Park is located in
(1)
(2)
3)
(4)

Chhattisgarh
Jharkhand
Manipur

Meghalaya

What are the factors which influence the

temperature of any area ?

A. Ocean currents and winds
B. Altitude

C. Latitude

D. Natural vegetation

Select the code for the correct answer
from the options given below :

(D
(2)
3
4)

A and B only
B and C only
A, B and D only
A, B,CandD

Who observed “If all Directive Principles
are carried out, our country would indeed

be a heaven on Earth” ?
(D
(2)
3
4)

M.V. Pylee
Mahatma Gandhi
M.C. Chagla

Jawaharlal Nehru
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35. Match the Pay Commissions (List I) with

their Chairmen (List IT) : 36. The Indian Constitution empowers the

Supreme Court to issue writs for the

List I List IT enforcement of any of the Fundamental
(Pay Commission) (Chairman) Rights conferred by the Part III of the
Indian Constitution under Article 32.
A. Seventh Pay I. Ratnavel
Commission Pandian Match the writs (List I) with their
meaning (List IT) :
B. Sixth Pay II. Ashok Kumar _ ‘
Commission Mathur List 1 List II
(Writ) (Meaning)
C. glfth P'ay. IIL. B.N. Srikrishna A. Habeas Corpus I. We command
ommission
D. Fourth Pay IV. Raghubir Dayal B. Mandamus I You may have
.. the body
Commission
C. Certiorari III. What is your
E. Third Pay V. P.N. Singhal authority
Commission

D. Quo Warranto IV. To be certified

Select the code for the correct answer

from the options given below : Select the code for the correct answer

from the options given below :
A B C D E

(1) 1II v I1I \% I A B C D

(2 1I 111 I AV v 1) I I IT1 v

(3) III 1A% \% I II (2) 1 IT v IT1

4) 1I I IT1 v \Y% 3 1 I v ITI
4) I IT III v

265 (17-A)
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In 2011 Census Report, which state had

female literacy rate as low as
52-66 percent ?

(1) Rajasthan

(2) Uttar Pradesh

(3) Jharkhand

(4) Bihar

The Best Biodiversity Board Award in

India was awarded to Karnataka

Biodiversity Board for the year

(1) 2009 -10
(2) 2010-11
(3) 2014 -16

None of the above

(4)

Among the following names, Hampi was

not known as

(1) Agasthya Tirtha
(2)  Virupaksha Tirtha
(83) Pampa Tirtha

(4) Kishkindha Tirtha

(19-A)

40. Consider the following statements
regarding IUCN status of various
species :

41.

A. Lion-tailed Macaque’s status is

endangered.

B. Nilgiri Tahr’s status is endangered.

Which of the above statements is/are

correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) BothAandB

(4) Neither A nor B

Which of the following animals makes a

nest for laying eggs ?
(1) Russell’s Viper
(2) Slender Loris
(3) King Cobra

(4) Sand Boa
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Forests and wildlife find a mention in the
Constitution  under the  following
chapters :

A. Fundamental Rights

B. Fundamental Duties

C. Directive Principles of State Policy
D. Schedule VII of the Constitution

Which

correct ?

of the above statements are

Select the code for the correct answer

from the options given below :

(1) A, Band C only

(2) B, CandD only

3) A/B,CandD

None of the above

(4)

Which of the following States became

India’s first fully organic State by

implementing organic practices on around

75,000 hectares of agricultural land ?
(1) Sikkim
(2) Arunachal Pradesh
(3) Meghalaya

Kerala

(4)

(21-A)

44.

45.

The Bahmani Sultanate was a Muslim
State of the Deccan Plateau in Southern
India and was one of the great medieval
kingdoms of India. Who was the founder

of the Bahmani empire ?

(1) Adil Shah

(2)

Hasan Gangu

Mahmud Gawan

3)

(4)

Qasim Barid

Which Benguluru based company was
incorporated in 1945 as Western India

Vegetable Products Ltd. ?
(1) BEL
(2)  WIPRO
(3) Titan

(4) Bahar
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The Burgan Oil Field is a massive oil field
which holds an estimated 66 to 72 billion
barrels of reserves. It is also referred to as
Greater Burgan. The oil fields are located

in which of the following country ?

(1) Kuwait

(2) Saudi Arabia

(3) Iran

(4) Iraq

Recently, the GOI wunder the Cyber
Swachhata Kendra, released

cyber-security tools to prevent a user

from facing threats on the web.

Which of the following is/are not the part
of the tools ?

A. M-Kundal
B. USB Pratirodh

C. AppSamvid

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) Band C only

None of the above

(4)

(23-A)

48.

49.

In the world economy, G20 nations

account for which of the following ?

rd
A. ; of the World’s population

B. 85% of the Global trade

C. 90% of the World’s GDP

Which of the above statements is/are

correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) B and C only

(83) Aand C only

(4) A,BandC

Which one of the following rivers and

their place of origin is not correctly

matched ?

(1) Ghataprabha -  Amboli

(2) Barapole —  Brahmagiri
(3) Harangi —  Pushpagiri
(4) Arkavati —  Chorla Ghat
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Silvassa was also known as ‘Vila de Paco
d’Arcos’. It is the capital of which Union

Territory of India ?

(1) Dadra and Nagar Haveli

(2) Daman and Diu
Andaman and Nicobar Islands

(3

(4) Lakshadweep

Which of the following cities are covered

in AMRUT Mission ?

A. Bhadravathi

B. Belgaum
C. Hospet
D. Kolar

E. Udupi

Select the code for the correct answer

from the options given below :

(1) B,Dand E

(2) BandE

3) A,C,Dand E
(40 A,B,C,DandE

(25-A)

52.

53.

Padma Bhushan is considered as the
third highest civilian award in India. Who
among the following is the foreign
recipient awarded with this prestigious

award at Rashtrapati Bhawan in the year

20177

(1) Fraser Stoddart

(2) Maha Chakri Sirindhorn
(3)

Bernard L. Feringa

(4) John B. Fener

Consider the following BRICS countries :

A. Brazil
B. Russia
C. China
D. India

Arrange them as per the correct HDI
order as per 2017 and select the correct

answer from the options given below :
(1) B,ACD
(2) D,B,AC
3 ABCD

4 C,B,AD
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Match List I (Place) with List II
(Monument/Temple/Palace) :

List 1 List IT
(Place) (Monument/Temple/
Palace)
A. Vijayapur 1. Bhutanatha

B. Mysore II. Ibrahim Rauza

C. Bagalkote III. Lalitha Mahal

D. Badami IV. Kudalasangama

Select the code for the correct answer
from the options given below :

A B C D
1 I II1 v II
(2 I II1 v I
(3) 1III II I 1Y
(4) 1III II v I

Consider the following statements :

A. Jim Corbett National Park is the
oldest national park of India.

B. It was one of the nine Tiger Reserves
created at the land of the Project
Tiger in 1972.

C. Initially it was named as “Hailey
National Park”.

Which of the above statements

correct ?

Select the code for the correct answer

from the options given below :

are

(1) A and B only
(2) B andC only
(3) A and C only
(40 A,BandC

(27 -A)

56.

57.

The first four planets nearest from the
Sun are known as

Terrestrial Planets

(1)

(2) Jovian Planets

(3) Gaseous Planets

(4) Gas-Giant Planets

Arrange the following geomorphic

processes in a sequential order and select
the correct answer using the code given

below :

A. Deposition

B. Weathering

C. Transportation
D. Compaction

Select the code for the correct answer
from the options given below :

(1) B,D,C,A
(2) B: D7 Aa C
3 B,C,AD

4 D,C,BA
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Which of the following rivers which

originates in Karnataka, has its

catchment area only within the State ?

(1) Cauvery

(2) Tungabhadra
(3) Sharavathi
(4) Vedavathi

Which of the following ports is situated

near the Goa border in Karnataka ?
(1)
(2)
(3)
(4)

Belekeri Port
Majali Port
Manki Port
Tadri Port

Mark the correct order of pressure belts

from equator to poles :

A. Equatorial Low Belt
B. Subtropical High Belt
C. Sub-polar Low Belt

D. Polar High Belt

Select the correct answer from the options
given below :

(1) A,B,CD
(20 AC,D,B
(3) B,C,AD
4 B,ACD

(29-A)

61.

62.

63.

Arrange the following gases present in

the atmosphere in the decreasing order of

volume :

A. Helium
B. Oxygen
C. Nitrogen
D. Argon

Select the correct answer from the options
given below :

(1) C,B,AD
(2) B,C,D,A
3 C,B,D,A
4 B,C,A,D

Which one of the following tribes is not
correctly matched with its State ?

(1) Angami - Nagaland
(2) Chakna - Tripura

(3) Sarpa - Manipur

(4) Rabha - West Bengal

A new species of Gecko, a type of lizard
usually found in warm climates was
recently spotted by the researchers from
the Osmania University in Hyderabad at
which of the following places ?

(1)

In the group of monuments at
Hampi, Karnataka

(2) In Bandipur National
Reserve, Karnataka

Tiger

3)

In the surroundings of the Kaiga
Power Plant

None of the above

(4)
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68.
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Consider the following statements :
A. Wheat and Barley are Rabi crops.
B. Jowar and Rice are Kharif crops.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B

Consider the following statements :

A. Tamil is the oldest of the Dravidian
languages.

B. The Sangam Literature is a
collection of long and short poems
composed in praise of various heroes
and heroines.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A only

B only

Both A and B
Neither A nor B

The 39th Congress Session was held in
1924, where Gandhiji was the President
of the Congress for the first and the last
time. In which of the following cities was
the session held ?

(1) Bidar

(2) Bijapur
(3)  Udupi
(4) Belgaum

67.

68.

Match List I with List II :

List1 List I

A. Governor I. Article 167

B. Council of Ministers II. Article 169

C. Duties of
Chief Minister

III. Article 155

D. Legislative Council IV. Article 163

Select the code for the correct answer

from the options given below :

A B C D
(1 I II III v
2 v III IT I
(3) III II v I
(4) III v I II

The word “Cherrapunji” means ‘land of

oranges’. Despite perennial rainfall,

Cherrapunji faces an acute water
shortage and the inhabitants often have
to trek for miles to obtain potable water.
Which among the following places in
Karnataka is also known as, “The

Cherrapunji of the South” ?
(D)
(2)
(3)
(4)

Kemmannugundi
Mulabagilu
Agumbe
Madikeri

(31-A)
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an element and are elaborately used in

medicines, industry and scientific

research. Match the following

radioisotopes (List I) with their

applications (List II) :

List I List I1
(Radioisotope) (Application)

A. Cobalt-60 I.  Geological
Dating

B. Potassium-40 II. Cancer Therapy

C. Iodine-131 III. Leukemia
Therapy

D. Phosphorus-32 1IV. Thyroid Therapy

E. Carbon-14 V. Archaeological
Dating

Select the code for the correct answer
from the options given below :

A B C D E
1 I II1 II IV v
(2 1II I v II1 v
3 I II III IAY A%
4 II I III IAY A%

(33-A)

70. Consider the following substances :

71.

A. Heavy water

B. Graphite

Which of the substances given above
is/are used as a moderator in a nuclear
reactor ?

Select the code for the correct answer
from the options given below :

(D
(2)
3)
(4)

A only

B only

Both A and B
Neither A nor B

Consider the following statements :

A. A water drop in vacuum is perfectly
spherical.

B. The shape of a water drop is distorted
due to the action of gravity.

C. Soaps and detergents drastically
decrease the surface tension of water.

D. As temperature increases, surface
tension also increases and becomes
maximum at critical temperature.

Which
correct ?

of the above statements are

Select the code for the correct answer
from the options given below :

(1) A B,CandD
(2) B, CandD only
(3) A, BandC only
(4) A and C only
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Consider the following statements :

A. The average life span of a CFL is
much longer than that of an LED
lamp.

B. A CFL is less energy efficient as
compared to an LED lamp.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A only
B only
Both A and B

Neither A nor B

Consider the following statements :

A. Humerus bone is found in the human
leg.
B. The smallest bone of the human body

is stapes.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A only

B only

Both A and B
Neither A nor B

(35-A)

74.

75.

Match the Vitamin deficiencies (List I)
with the Diseases (List II) :

List1 List IT
(Vitamin (Disease)
Deficiency)
A. A I. Beri beri
B. B II. Scurvy
C. C ITI. Xerophthalmia
D. D IV. Rickets

Select the code for the correct answer

from the options given below :

A B C D
(1 I II III v
2 v I II III
(3) III II I v
(4) 1III I II v

In thermometers, usually mercury is used

for a broad range of temperature
measurements but in very cold countries
alcohol is used in the thermometers.
This is because of which of the following

reasons ?

(1)  Alcohol has high boiling point.

(2) It will not stick to the glass.

3)

It freezing point is very low.

(4)

Alcohol is a poor conductor of heat.
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Consider the following statements :

A. Aurangzeb was a puritan, so he
abolished all practices in the court
which were not in conformity with
the injunctions of Islam.

B. He forbade the cultivation of Bhang
throughout the empire.

C. He abolished the pilgrimage tax and
Jaziya.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) AandBonly

(2) A and Conly

(3) A,BandC

(4) Conly

Which of the following statements with
regard to Raja Ram Mohan Roy is/are

correct ?
A. He started the Atmiya Sabha.
B. He founded the Brahmo Samaj.

C. He wrote the book “Tuhfat-ul-
Muwahhidin” (A Gift to Monotheists).

Select the code for the correct answer
from the options given below :

(1) A and C only
(2) Band C only
(3) Aonly

(40 A,BandC

(37 -A)

78.

79.

Arrange the kings of Sangam dynasty
chronologically :

A. Devarayal
B. Devaraya II
C. Hariharal
D. Mallikarjuna

E. Bukkal

Select the correct answer from the options

given below :
(1) C,AB,D,E
(2 E,ABD,C
3 C,E,ABD

4 AB,C,D,E

Which Bahmani his

ambassador to the court of Thimur and

Sultan sent

acquired the right of authority over

Deccan and Gujarat ?

(1) Mohamed ShahI

(2) Tajuddin Firuz Shah
(3) Allauddin Humayun

(4) Shihabuddin Mohammed
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travelling speed for the following media :

A. Air
B. Water
C. Iron

Select the correct answer from the options

given below :
(1) B,AC
(2) AB,C
3 ACB
(4)

None of the above

The distribution of powers between the
Centre and the States in the Indian
Constitution is based on the scheme

provided in which of the following ?
(1)
(2)
(3)
(4)

Morley-Minto Reforms, 1909
Montague-Chelmsford Act, 1919
Government of India Act, 1935
Government of India Act, 1947

The resolution for India’s partition was
passed on 14th June 1947 in the Delhi
Congress Session. Who was the President

of that Session ?

(1) Acharya J.B. Kripalani
(2)
(3)
(4)

Dr. Rajendra Prasad
Sardar Vallabhbhai Patel
Pt. Jawaharlal Nehru

(39-A)

83.

84.

85.

The first President of the National Home
Rule League at Dharwad in 1916 was

(D
(2)
(3)
4)

Aluru Venkata Rao
Gangadhara Rao Deshpande
S. Nijalingappa

K.T. Bhashyam

The National Bank for Agriculture and
(NABARD) has
conferred the ‘Best Performance Award’
for 2015 - 16 and 2016 — 17 to which of

Rural Development

the following banks for its work in the
field of credit-linking joint liability groups
(JLGs) ?

(D)
(2)
3
(4)

Telangana Grameen Bank
Maharashtra Grameen Bank
Karnataka Vikas Grameen Bank

Purvanchal Grameen Bank

Union Cabinet has recently raised the
limit of the Creamy layer ceiling for the
Other Backward Classes (OBCs) for the
Central Government jobs. What is the
raise ?

(1) From 5 lakhs to 7 lakhs
(2)
3)

(4)

From 5 lakhs to 8 lakhs
From 6 lakhs to 8 lakhs

From 6 lakhs to 9 lakhs
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Who was appointed the non-executive
Chief Executive Officer (CEO) of Infosys
immediately after the resignation of
Vishal Sikka ?

(1)
(2)
(3)
(4)

Nandan Nilekani
R. Sheshaysaee

N. Narayana Murthy
U.B. Pravin Rao

Sushma Swaraj, Union External Affairs
Minister, has inaugurated India’s first
Videsh Bhawan in which of the following
States ?

(1)
(2)
(3)
(4)

Maharashtra
Karnataka
Andhra Pradesh

Rajasthan

The Karnataka Government, in a first
its kind has
Memorandum of Understanding (MoU)

initiative of signed a
with which software giant to develop a
unique “farm price forecasting model”
using latest IT tools in a bid to help
other
stakeholders to understand the market

farmers, administrators and

behaviour in advance ?
(D
(2)
(3)
(4)

Google
Microsoft
Facebook

Twitter

41-A)

89.

90.

Human Development Report for each
year at global level is published by which

of the following organizations ?

(1) WTO

(2) World Bank

(3) UNDP

4) IMF

The  National Skill  Development
Corporation (NSDC) has launched

Android Skill Development programme to
impart mobile development training on
the Android and Web platform and to
improve the quality of mobile app
development ecosystem in India. The
programme is launched in collaboration
with which of the following technology

giants ?
(1) Google
(2) Wipro

(3) Microsoft

(4) Apple
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The Parliamentary Panel headed by
Major. General (Retired) B.C. Khanduri
tabled

Parliament regarding award of pension to

has recently its report in
the widow of a deceased soldier so that
she can take care of her family. The
report stated that after the death of a
soldier, the pension of the spouse comes
down to 60% of his pension and the
spouse usually faces severe problems due
to the loss of the breadwinner. The panel
has recommended how much percentage

of the pension to the widow in the report ?

1) 70%
(2) 80%
3 90%
(4) 100%
The Rajiv Gandhi National Aviation

University (RGNAU), India’s first-ever
aviation university, will be inaugurated

in which of the following States of India ?

(1) Uttar Pradesh
(2) Bihar

(3) West Bengal
(4) Kerala

(43-A)

93.

94.

The 15th meeting of the Foreign Ministers

of Bay of Bengal Initiative for
Multi-Sectoral Technical and Economic
Cooperation (BIMSTEC) to review the
progress in identified fourteen areas of
cooperation and discuss ways to
accelerate cooperation under the process
took place in August, 2017 in which of the

following places ?
(1)
(2)
3)
(4)

Kathmandu
New Delhi

Kuala Lumpur

Dhaka

Match the Banks (List I) with the
Headquarters (List II) :

List 1 List I1
(Bank) (Headquarters)
A. Allahabad Bank I. Delhi
B. Central Bank of II. Kolkata
India
C. Indian Overseas III. Mumbai
Bank
D. Punjab National IV. Chennai
Bank

Select the code for the correct answer
from the options given below :

A B C D
(1 1II v ITI I
(2 II IT1 IAY I
3 v IT1 I II
4) IV I III II
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Consider the following factors :

A. Deficit financing

B. Black money in an economy

C. High rate of population growth

Which of the factors given above are
responsible for the demand-pull inflation

in an economy ?

Select the code for the correct answer

from the options given below :
(1)
(2)
(3)
(4)

A and B only
B and C only
A and C only
A,Band C

Which of the following countries is not a
member of OPEC (Organization of the
Petroleum Exporting Countries) ?

(1) Algeria
(2) Brazil
(3) Ecuador
(4) Nigeria
What is the income limit for a

non-agriculturist to buy agricultural land
in Karnataka ?

(1) < 5lakhs

(2) T 10lakhs
(3) < 151lakhs
(4) T 25lakhs

(45 -A)

98.

99.

100.

Which of the following Amendments
reduced the voting age from 21 to 18

years ?

(1) 55" Amendment

(2) 58th Amendment

(3) 615t Amendment

(4) 66" Amendment

“Food Safety and Standards Authority of
India (FSSAI)” comes under which of the

following ?

(D)

Ministry of Consumer Affairs, Food
and Public Distribution

(2)
(3)
(4)

Ministry of Agriculture
Ministry of Science and Technology

Ministry of Health and Family

Welfare

On 18tk May, 1974, under the direction of
Kanadiga scientist Raja Ramanna, India
successfully conducted an underground
Nuclear Test at Pokhran in the Rajasthan
desert (Pokhran I). What was its code
name ?

(1)
(2)
3)
(4)

Flying Astra
Shakti I
Smiling Buddha

Happy Anjaneya
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